
Indicate the answer choice that best completes the statement or answers the question.

1. How many flowers in all? 

a. 5 b. 8

c. 7 d. 10

2.          

a. 7 b. 8

c. 10 d. 11

3. Determine if the statement is true or false.   

6 - 6 = 0

a. true b. false
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4. What is the sum?     

7 + 0 = ______

Indicate the answer choice that best completes the statement or answers the question.

5. There are 6 cats.
1 runs away.
How many are left?

a. 1 b. 6

c. 5 d. 7
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6. What is the difference?

8  0 = ____

7. 

Indicate the answer choice that best completes the statement or answers the question.

8. Determine if the statement is true or false.

3 + 5 = 7
 

a. true b. false
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